

Method For Solving Fuzzy Integro-Differential Equation By Using Fuzzy Laplace Transformation

Manmohan Das, Dhanjit Talukdar

Abstract: In this article we study the method of solving fuzzy integro-differential equation under certain condition by using fuzzy Laplace transformation . Finally we give some illustrative examples.

Keywords: Fuzzy numbers, Volterra integro-differential equation, fuzzy Laplace Transformation, Riemann-integrable , Hausdorff distance .

1. Introduction

The concept of fuzzy sets and set operations was first introduced by Zadeh [19] and subsequently several authors have studied various aspects of the theory and applications of fuzzy sets. Abbasbandy et. al [12] introduced a numerical algorithm for solving linear Fredholm fuzzy integral equations of second kind by using parametric form of fuzzy number and converting a linear fuzzy Fredholm integral equations to two linear systems of integral equation of the second kind in crisp case Badolian et. al studied another numerical method for solving linear fuzzy Fredholm integral equation of second kind by using Adomian method. Moreover , Friedman et. al [8] investigated an embedding method to solve fuzzy Volterra and Fredholm integral equations. However many other authors obtained the numerical integration of fuzzy valued functions and solving fuzzy Volterra and Fredholm equations. The concept of fuzzy Laplace Transformation was introduced by Allahviranloo , Ahmadi [16] . After many other researcher use it to solve fuzzy differential equations, fuzzy integral equations etc. Some authors discussed the solution of fuzzy integro-differential equation by fuzzy differential transform method in their research paper [13] .

2. Definition and Background

A fuzzy number is a fuzzy subset of the real line R i.e a function $u : R \rightarrow [0,1]$ which is bounded, convex and normal. Let E denote the set of all fuzzy numbers which are upper semi continuous and have compact support. The α - level set $[u]_\alpha$ set of a fuzzy real number u for $0 < \alpha \leq 1$, defined as $[u]_\alpha = \{ t \in R : u(t) \geq \alpha \}$. A fuzzy real number u is called *convex*, if $u(t) \geq u(s) \wedge u(r) = \min (u(s), u(r))$, where $s < t < r$. If there exists $t_0 \in R$ such that $u(t_0) = 1$, then the fuzzy real number u is called *normal*. A fuzzy real number u is said to be *upper semi-continuous* if for each $\varepsilon > 0$, $u^{-1}([0, a + \varepsilon])$, for all $a \in [0,1]$ is open in the usual topology of R .

The absolute value $|u|$ of $u \in E$ is defined as (see for instance Kaleva and Seikkala

$$|u|(t) = \begin{cases} \max \{ u(t), u(-t) \}, & \text{if } t \geq 0 \\ 0, & \text{if } t < 0. \end{cases}$$

It is clear that that the α - level set of the fuzzy number u is a closed and bounded interval $[\underline{u}(\alpha), \bar{u}(\alpha)]$ where $\underline{u}(\alpha)$ denotes the left-hand end point and $\bar{u}(\alpha)$ denotes the right-hand end point of $[u]_\alpha$. Two arbitrary fuzzy numbers $\bar{u} = [\underline{u}(\alpha), \bar{u}(\alpha)]$ and $\bar{v} = [\underline{v}(\alpha), \bar{v}(\alpha)]$ are said to be equal i.e $\bar{u} = \bar{v}$ if and only if $\underline{u}(\alpha) = \underline{v}(\alpha)$ and $\bar{u}(\alpha) = \bar{v}(\alpha)$. Since each $y \in R$ can be regarded as a fuzzy number \bar{y} defined by :

$$\bar{y}(t) = \begin{cases} 1 & \text{if } t = y \\ 0 & \text{if } t \neq y \end{cases}$$

The Hausdorff distance between fuzzy numbers is a mapping $\bar{d} : L(R) \times L(R) \rightarrow R_+$ defined by

$$d(u, v) = \sup_{0 \leq \alpha \leq 1} \max \left\{ \left| \underline{u}(\alpha) - \underline{v}(\alpha) \right|, \left| \bar{u}(\alpha) - \bar{v}(\alpha) \right| \right\}$$

Where $u = [\underline{u}(\alpha), \bar{u}(\alpha)]$ and $v = [\underline{v}(\alpha), \bar{v}(\alpha)]$. It can be easily shown that d is a metric on $L(R)$ with the following properties :

1. $d(u + w, v + w) = d(u, v)$ for all $u, v, w \in L(R)$.
2. $d(ku, kv) = |k|d(u, v)$ for all $u, v \in L(R)$
3. $d(u + v, w + e) \leq d(u, w) + d(v, e)$ for all $u, v, w, e \in L(R)$
4. $(d, L(R))$ is a complete metric space.

Definition2.1: Let $f : R \rightarrow L(R)$ be a fuzzy valued function. f is said to be continuous at $t_0 \in R$ if for each $\varepsilon > 0$ there exists a $\delta > 0$ such that

$$d(f(t), f(t_0)) < \varepsilon \quad \text{whenever } |t - t_0| < \delta .$$

- Manmohan Das, Deptt. Of Mathematics, Bajali College, Assam, India.
E-mail: mdas.bajali@gmail.com
- Dhanjit Talukdar, Deptt. Of Physics, Bajali College, Assam, India.
E-mail: tdhanjit@gmail.com

Definition 2.2: Let $f : R \rightarrow L(R)$ be a fuzzy valued function and $x_0 \in R$. We say that f is differentiable at x_0 , if there exists $f'(x_0) \in L(R)$ such that

$$(a) \lim_{h \rightarrow 0^+} \frac{f(x_0 + h) - f(x_0)}{h} = \lim_{h \rightarrow 0^+} \frac{f(x_0) - f(x_0 - h)}{h} = f'(x_0)$$

Or

$$(b) \lim_{h \rightarrow 0^-} \frac{f(x_0 + h) - f(x_0)}{h} = \lim_{h \rightarrow 0^-} \frac{f(x_0) - f(x_0 - h)}{h} = f'(x_0)$$

Theorem 2.1: Let $f : R \rightarrow L(R)$ be a fuzzy valued function and denote $f(t) = [f(t, \alpha), \bar{f}(t, \alpha)]$ for each $0 \leq \alpha \leq 1$ followings are hold –

(a) If f is differentiable in the first form (a) in definition 2.2, then $f(t, \alpha)$ and $\bar{f}(t, \alpha)$ are differentiable and

$$f'(t) = [f'(t, \alpha), \bar{f}'(t, \alpha)].$$

(b) If f is differentiable in the 2nd form (b) in definition 2.2, then $f(t, \alpha)$ and $\bar{f}(t, \alpha)$ are differentiable and

$$f'(t) = [\bar{f}'(t, \alpha), f'(t, \alpha)].$$

Theorem 2.2: Let $f : R \rightarrow L(R)$ be a fuzzy valued function and denote $f(t) = [f(t, \alpha), \bar{f}(t, \alpha)]$ for each $0 \leq \alpha \leq 1$, Then

(a) If f and f' are differentiable in the first form (a) in definition 2.2 or if f and f' are differentiable in the 2nd form (b) in definition 2.2, then $f'(t, \alpha)$ and $\bar{f}'(t, \alpha)$ are differentiable and

$$f''(t) = [f''(t, \alpha), \bar{f}''(t, \alpha)].$$

(b) If f is differentiable in the first form (a) and f' is differentiable in the 2nd form (b) or if f is differentiable in the 2nd form (b) and f' is differentiable in the first form (a) in definition 2.2, then then $f'(t, \alpha)$ and $\bar{f}'(t, \alpha)$ are

differentiable and

$$f''(t) = [f''(t, \alpha), \bar{f}''(t, \alpha)].$$

Theorem 2.3: Let $f(x)$ be a fuzzy real valued function

on $[a, \infty)$ and it is represented by $[f(x, \alpha), \bar{f}(x, \alpha)]$

. For any fixed $r \in [0, 1]$, assume $f(x, \alpha), \bar{f}(x, \alpha)$ are Riemann-integrable on $[a, b]$ for every $b \geq a$ and let

there exists two positive $M(\alpha)$ and $\bar{M}(\alpha)$ such that

$$\int_a^b |f(x, \alpha)| dx \leq M(\alpha) \quad \text{and} \quad \int_a^b |\bar{f}(x, \alpha)| dx \leq \bar{M}(\alpha)$$

for every $b \geq a$. Then $f(x)$ is improper fuzzy Riemann-integrable on $[a, \infty)$ and the improper fuzzy Riemann-integral is a fuzzy number. Further more, we have

$$\int_a^\infty f(x) dx = \left(\int_a^\infty f(x, \alpha) dx, \int_a^\infty \bar{f}(x, \alpha) dx \right)$$

Proposition 2.1: Let $f(x)$ and $g(x)$ be a fuzzy real valued function and also fuzzy Riemann-integrable on $I = [a, \infty)$, then $f(x) + g(x)$ is Riemann-integrable on $I = [a, \infty)$ and,

$$\int_I [f(x) + g(x)] dx = \int_I f(x) dx + \int_I g(x) dx$$

Definition 2.3: Fuzzy Laplace Transformation

The fuzzy Laplace transform of a fuzzy real valued function $f(t)$ is defined as follows:

$$F(s) = L\{f(t)\} = \int_0^\infty e^{-st} f(t) dt = \lim_{T \rightarrow \infty} \int_0^T e^{-st} f(t) dt$$

whenever the limit exist.

The symbol L is fuzzy Laplace transformation, which acts on fuzzy real valued function $f = f(t)$ and generates $F(s) = L\{f(t)\}$. The lower and upper Laplace transform of a fuzzy real valued function $f(t)$ are given as follows:

$$F(s, \alpha) = L\{f(t, \alpha)\} = [l\{f(t, \alpha)\}, l\{\bar{f}(t, \alpha)\}]$$

Where

$$l\{f(t, \alpha)\} = \int_0^\infty e^{-st} f(t, \alpha) dt = \lim_{T \rightarrow \infty} \int_0^T e^{-st} f(t, \alpha) dt$$

, $0 \leq \alpha \leq 1$

$$l\{\bar{f}(t, \alpha)\} = \int_0^\infty e^{-st} \bar{f}(t, \alpha) dt = \lim_{T \rightarrow \infty} \int_0^T e^{-st} \bar{f}(t, \alpha) dt$$

, $0 \leq \alpha \leq 1$

Definition 2.3: Fuzzy Convolution Theorem :

The convolution of two fuzzy real valued functions f, g defined for $t \geq 0$ by

$$(f * g)(t) = \int_0^t f(T)g(t-T)dT$$

Theorem 2.4 : If f and g are piecewise continuous fuzzy real valued function on $[0, \infty)$ with exponential order p , then-

$$L\{(f * g)(t)\} = L\{f(t)\}.L\{g(t)\} = F(s).G(s) \quad , \quad s > p .$$

3. Main Method

Consider the following Fuzzy Volterra Integro-Differential equation :

(1)... $u^{(n)}(t) = \int_0^t k(s)u(s)ds$ with $u^{(k)}(0) = \bar{a} = (\underline{a}_k, \bar{a}_k); 0 \leq k \leq n-1.$

Where $u^{(n)}$ denotes the n^{th} derivative of u .

Taking Fuzzy Laplace transformation on both sides of (1), we get

$$L[u^{(n)}(t)] = L[f(t)] + L[\int_0^t k(s-t)u(s)ds]$$

By definition of Fuzzy Laplace transformation and using Fuzzy Convolution Theorem ,

we have ,

$$s^n L[u(t)] - s^{n-1}u(0) - s^{n-2}u'(0) - \dots - u^{(n-1)}(0) = L[f(t)] + L[\int_0^t k(s-t)u(s)ds]$$

This implies that

(2). $s^n l\{\underline{u}(t; \alpha)\} - s^{n-1} \underline{a}_0 - s^{n-2} \underline{a}_1 \dots \underline{a}_{n-1} = l\{\underline{f}(t; \alpha)\} + l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}$, $0 \leq \alpha \leq 1$

and

(3)... $s^n l\{\bar{u}(t; \alpha)\} - s^{n-1} \bar{a}_0 - s^{n-2} \bar{a}_1 \dots \bar{a}_{n-1} = l\{\bar{f}(t; \alpha)\} + l\{\bar{k}(t; \alpha)\} l\{\bar{u}(t; \alpha)\}$, $0 \leq \alpha \leq 1$

Now we discuss the following cases :

Case 1: If $u(t; \alpha)$ and $k(t; \alpha)$ are both positive , then

$$l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\} = l\{\underline{k(t; \alpha)}\} l\{\underline{u(t; \alpha)}\}$$

$$\overline{l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}} = l\{\overline{k(t; \alpha)}\} l\{\overline{u(t; \alpha)}\}$$

Case 2: If $u(t; \alpha)$ is negative and $k(t; \alpha)$ is positive , then

$$l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\} = l\{\overline{k(t; \alpha)}\} l\{\underline{u(t; \alpha)}\}$$

$$\overline{l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}} = l\{\underline{k(t; \alpha)}\} l\{\overline{u(t; \alpha)}\}$$

Case 3: If $u(t; \alpha)$ is positive and $k(t; \alpha)$ is negative , then

$$l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\} = l\{\underline{k(t; \alpha)}\} l\{\overline{u(t; \alpha)}\}$$

$$\overline{l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}} = l\{\overline{k(t; \alpha)}\} l\{\underline{u(t; \alpha)}\}$$

Case 4: If $u(t; \alpha)$ and $k(t; \alpha)$ are both negative , then

$$l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\} = l\{\overline{k(t; \alpha)}\} l\{\overline{u(t; \alpha)}\}$$

$$\overline{l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}} = l\{\underline{k(t; \alpha)}\} l\{\underline{u(t; \alpha)}\}$$

We introduce explicit formula for **Case1** and others are similar. So we have from (2) and (3)

$$s^n l\{\underline{u}(t; \alpha)\} - s^{n-1} \underline{a}_0 - s^{n-2} \underline{a}_1 \dots \underline{a}_{n-1}$$

$$= l\{\underline{f}(t; \alpha)\} + l\{\underline{k}(t; \alpha)\} l\{\underline{u}(t; \alpha)\}$$

$$, 0 \leq \alpha \leq 1$$

and

$$s^n l\{\bar{u}(t; \alpha)\} - s^{n-1} \bar{a}_0 - s^{n-2} \bar{a}_1 \dots \bar{a}_{n-1}$$

$$= l\{\bar{f}(t; \alpha)\} + l\{\bar{k}(t; \alpha)\} l\{\bar{u}(t; \alpha)\}$$

In compact form:

$$l\{\underline{u}(t; \alpha)\} = \frac{l\{\underline{f}(t; \alpha)\} + s^{n-1} \underline{a}_0 + s^{n-2} \underline{a}_1 + \dots + \underline{a}_{n-1}}{(s^n - l\{\underline{k}(t; \alpha)\})}$$

$$, 0 \leq \alpha \leq 1$$

and

$$l\{\bar{u}(t; \alpha)\} = \frac{l\{\bar{f}(t; \alpha)\} + s^{n-1} \bar{a}_0 + s^{n-2} \bar{a}_1 + \dots + \bar{a}_{n-1}}{(s^n - l\{\bar{k}(t; \alpha)\})}$$

$$, 0 \leq \alpha \leq 1$$

By taking the inverse of fuzzy Laplace transformation on both sides of above relations we can easily obtain the value of $\underline{u}(t; \alpha)$ and $\bar{u}(t; \alpha)$ where $0 \leq \alpha \leq 1$.

Example 3.1: To solve the following Fuzzy Volterra Integro-Differential equation

$$u''(t) = (\alpha + 2, 4 - \alpha)t + \int_0^t (t-x)u(x) dx ;$$

$$u(0) = (\alpha + 1, 3 - \alpha); u'(0) = (\alpha, 2 - \alpha)$$

By using fuzzy Laplace transformation on both sides of the equation , we get

$$L[u''(t)] = L[(\alpha + 2, 4 - \alpha)t] + L[t]L[u(t)]$$

This implies

$$s^2 L\{u(t)\} - su(0) - u'(0) = L\{(\alpha + 2, 4 - \alpha)t\}$$

$$+ L\{t\}L\{u(t)\}$$

i.e

$$s^2 l\{\underline{u}(t; \alpha)\} = l\{(\alpha + 2)t\} + l\{t\} l\{\underline{u}(t; \alpha)\}$$

$$+ s(\alpha + 1) + (\alpha)$$

and

$$s^2 l\{\bar{u}(t; \alpha)\} = l\{(4 - \alpha)t\} + l\{t\} l\{\bar{u}(t; \alpha)\}$$

$$+ s(3 - \alpha) + (2 - \alpha)$$

$$0 \leq \alpha \leq 1$$

i.e

$$l\{\underline{u}(t; \alpha)\} = (\alpha + 2) \left(\frac{1}{s^4 - 1} \right) + (\alpha + 1) \left(\frac{s^3}{s^4 - 1} \right)$$

$$+ (\alpha) \left(\frac{s^2}{s^4 - 1} \right)$$

$$0 \leq \alpha \leq 1$$

and

$$l\{\bar{u}(t; \alpha)\} = (4 - \alpha) \left(\frac{1}{s^4 - 1} \right) + (3 - \alpha) \left(\frac{s^3}{s^4 - 1} \right)$$

$$+ (2 - \alpha) \left(\frac{s^2}{s^4 - 1} \right)$$

$$0 \leq \alpha \leq 1$$

By taking the inverse of fuzzy Laplace transformation on both sides of above relations, we have

$$\underline{u}(t; \alpha) = (\alpha + 2). \frac{1}{2} (\sinh t - \sin t) +$$

$$(\alpha + 1). \frac{1}{2} (\cos t + \cosh t) + (\alpha) \frac{1}{2} (\sin t + \sinh t)$$

$$\bar{u}(t; \alpha) = (4 - \alpha). \frac{1}{2} (\sinh t - \sin t) + (3 - \alpha).$$

$$\frac{1}{2} (\cos t + \cosh t) + (2 - \alpha) \frac{1}{2} (\sin t + \sinh t) ,$$

$0 \leq \alpha \leq 1$.

Example 3.2: Consider the Fuzzy Volterra Integro-Differential equation

$$u'''(t) = (\alpha + 1, 3 - \alpha)e^t + \int_0^t \sin(t-x)u(x)dx$$

$$u(0) = u'(0) = u''(0) = \bar{0} = (0, 0)$$

By using fuzzy Laplace transformation on both sides of the equation, we get

$$l\{\underline{u}(t; \alpha)\} = (\alpha + 1) \left(\frac{s^2 + 1}{(s^5 + s^3 - 1)(s - 1)} \right),$$

$$0 \leq \alpha \leq 1$$

$$l\{\bar{u}(t; \alpha)\} = (3 - \alpha) \left(\frac{s^2 + 1}{(s^5 + s^3 - 1)(s - 1)} \right),$$

$$0 \leq \alpha \leq 1$$

By taking the inverse of fuzzy Laplace transformation on both sides of above relations we can easily obtain the value of $\underline{u}(t; \alpha)$ and $\bar{u}(t; \alpha)$ where $0 \leq \alpha \leq 1$.

References

- [1]. B.Bede, Quadrature rules for integrals of fuzzy-number-valued function. Fuzzy Sets and Systems 145 (2004)359-380.
- [2]. B.Bede, S.G. Gal, Generalizations of the differentiability of fuzzy-number-valued functions with applications to fuzzy differential equations, Fuzzy Sets and Systems 151(2005) 581-599.
- [3]. H.C. Wu, The improper fuzzy Riemann integral and its numerical integration, Information Science 111(1999)109-137.
- [4]. H.C. Wu, The fuzzy Riemann integral and its numerical integration, Fuzzy Set and Systems 110(2000)1-25.
- [5]. I.Perfilieva, Fuzzy transforms :Theory and Applications, Fuzzy Sets and Systems 157(2006)993-1023.
- [6]. I. Perfilieva ,H. De Meyer ,B. De Baets, Cauchy problem with fuzzy initial condition and its approximate solution with the help of fuzzy transform .WCCI 2008,Proceedings 978-1-4244-1819-0 Hong Kong IEEE Computational Intelligence Society (2008)2285-2290.
- [7]. J.Y.Park, .C .Kwan,J. V.Jeong, Existence of solutions of fuzzy integral equations In Branch spaces, Fuzzy Sets and System 72(1995)373-378.
- [8]. M.Friedman, M.Ma,A.Kandel, Numerical solution of fuzzy differential and integral equations,Fuzzy Sets and System 106 (1996) 35-48.
- [9]. M. Friedman, M.Ma, A.Kandel, Numerical methods for calculating the fuzzy integrals, Fuzzy Sets and System 83(1996) 57-62.
- [10]. M. Maltok, On fuzzy integrals, Proce.2ndPolish Symp. On Interval and Fuzzy Mathematics, Politechnika Poznansk,1987,pp.167-170.
- [11]. R.Goetschel,W. Voxman, Elementary calculus, Fuzzy Sets and Systems 18 (1986) 31-43.
- [12]. S. Abbasbandy , E . Babolian, M. Alavi , Numerical method for solving linear Fredholm fuzzy integral equations of 2nd kind , Chaos Solution and Fractals 31(2007) 138-146.
- [13]. S. Salahshour et al. IJIM Vol.4, No. 1 (2012) 21-29 .
- [14]. S.S.L.Chang,L. Zadeh, On fuzzy mapping and control. IEEE Trans System Cybernet,2(1972)30-34.
- [15]. S.Nanda,On integration of fuzzy mappings, Fuzzy Sets and System 32(1989) 95-101.
- [16]. T . Allahvirenloo, M . Barkhordari Ahmadi, Fuzzy Laplace Transforms , Soft Computing 14 (2010) 235-243.
- [17]. V.Lakshmikantham, R.N. Mohapatra, Theory of Fuzzy Differential Equations and inclusions,Taylor and Francis, 2003.
- [18]. W.Congxin, M.Ma, On the integrals series and integral equations of fuzzy set-valued functions, J. Harbin Inst. Technol.21(1990) 11-19.
- [19]. Zadeh L.A. Zadeh, (1965) , Fuzzy sets, Inform and Control 8 ,(1965),338-353.